REFERENCIA| M1 M2 oA L
607020 M6x1 M6x1 8 10
607030 M6x1 M6x1 8 15
607040 M6x1 M6x1 8 25
607110 | M8x1.25 | M8x1.25 | 10 10
607120 | M8x1.25 | M8x1.25 | 10 15
607130 | M8x1.25 | M8x1.25 | 10 25 ]
607220 | M10x1.5 | M10x1.5 | 14 10
607230 | M10x1.5 | M10x1.5 | 14 15
607240 | M10x1.5 | M10x1.5 | 14 25
Dept. Technical reference Created by Approved by
OT Alontec  24/03/2024 Blas Alonso  24/03/2024
Document type Document status
Title DWG No.
n_,w%qmm..o.m_wmn Prolongador 607xxx-P
Rev. Date of issue Sheet
| 00 2/1




